Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2020B *** 4 giften per ronde **I1NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OwW gift 4 NZ OW
1 Dewael Albert-Van Moortsel Lucienne 2 Lemaire Jack-Jehoul Piet 1 2 7 7 =120 WIN+1 2 12 -110 W1R+2 0 14 -50 z4H-1] 2 12 140 Zz2H+1
3 Paredis Rina-Plessers Julia 4 Joosten Henri-Coolen Raymond 15 16 12 2 -90 WIN= 13 1 110 728= 5 9 120 N2N= 2 12 140 Z2H+1
5 Molenaers Anne-Michiels Blanche 6 Beckers Hilde-Houben Marc 10 11 7 7 -120 WIN+1 9 5 50 WIN-1 5 9 120 N2N= 10 4 170 Z1H+3
7 Van Duynhoven Lambert-Rietjens Jac 8 Kurent Annie-Paes Pascale 4 7 14 0 50 W2H-1 13 1 110 z2s=| 10 4 140 73H= 14 0 200 02K-2
9 van de Boel Ghislaine-Bohnen Freddy 10 Houbrechts Andre-Vandeven Annie 3 17 9 7 120 WIN+1 0 14 -120 WiN+1 10 4 140 73H= 7 7 150 NIN:2
11 verkissen leon-simons robert 12 Linssen Els-Joosten Rik
13 Essers Mieke-Pilet Josee 14 Opdenacker Jef-Dewijngaert Guido 136 2 12 -140 W2h+l 6 § -90 Wikl 10 4 140 z2ftl 12 2 180 z2N+2
15 Lang Yvonne-Simons Josee 16 Joosten Gert-Christis Margriet 2 14 0 14 -150 Win+2 ? > 50 W3R-1 2 12 100 028-1 7 7 150 NINH2
17 Male Charley-Van Hoey Angeline 18 Bye 17 8 7 7 =120 WIN+1 4 10 -100 z3s-1 14 0 200 03s-2 2 12 140 Zz2H+1
Bye
NZ OW |gift 5 NZ OW gift 6 Nz OW gift 7 Nz OW gift 8 Nz OW NZ OW [gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
3 4 13 1 630 Z3N+1f 13 1 110 z2s=| 10 4 -600 O3N= 1 13 -100 Z4H-2 5 6 13 1 100 0O4s-1f 8 6 100 w4s-1 7 7 =170 W3S+1 2 12 -300 Z3s-3
Bye 14 17 0 14 -800 z5H!-¢ 14 0 200 04s-2 0 14 -800 z4K!-¢ 0 14 -590 O4H!=
12 15 8 6 180 Z1N+3 0 14 -150 Z2s-3] 10 4 -600 O3N= 14 0 460 N3N+2 Bye
le 13 0 14 -300 z3N-3] 6 8 -120 WIN+1 2 12 -630 O3N+1] 8 6 150 Z2N+1 8 15 13 1 100 0O4s-1f 8 6 100 04s-1 7 7 -170 W3S+1 7 7 -170 O2H+2
6 9 10 4 600 Z3N= 6 8 -120 WIN+1 | 10 4 -600 O3N= 4 10 110 N2K+1 16 11 6 8 -620 04s= 2 12 -140 03s= 12 2 -150 Z3K-3] 4 10 -200 N1H-2
5 14 13 1 630 Z3N+1 6 8 -120 WIN+1 2 12 -630 O3N+1] 11 3 400 z3N= 2 6 8 -620 04s= 8 6 100 04s-1 7 7 -170 W3S+1 7 7 -170 O2H+2
1 8 5 9 -100 z3N-1 13 1 110 z2s=| 10 4 -600 O3N= 11 400 Z3N= 3 10 6 8 -620 04s= 8 100 04s-1 14 0 -140 W3s= 12 2 -100 z3s-1
11 2 5 9 -100 Z3N-1 | 10 4 -50 z2s-1 2 12 -630 O3N+1] 1 13 -100 Z4H-2 13 4 6 8 -620 04s= 8 6 100 04s-1 7 7 -170 W3s+1 | 10 4 -150 OIN+2
7 10 2 12 -200 zZ3N-2| 2 12 -140 0O3H=| 10 4 -600 O3N= 6 8 130 N3K+1 9 12 6 8 -620 W4s= 0 14 -170 W3S+l 2 12 -500 Z4K!—13 14 0 50 04H-1
NZ OwW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OwW |gift 17 NZ OW gift 18 NZ OW gift 19 NZ OW gift 20 NZ OW
7 8 4 10 100 O3R-1 1 13 -430 W3N+1] 10 4 690 Z3N+3 8 6 -110 wW2s= 9 10 5 9 -120 WIN+1 0 14 -300 z1s-3 O 14 420 N4H= 1 13 -300 N2H-3
2 3 4 10 100 O3R-1 5 9 -150 W2N+1 | 10 4 690 Z3N+3 13 1 100 w2s-1 4 5 12 2 110 N2H= | 10 4 90 N1N= 12 2 460 N3N+2| 12 2 -100 NIN-1
10 17 0 14 -100 N2H-1] 10 4 -130 W4R= 1 13 600 Z5K= 0 14 -630 W3N+1 12 1 5 9 -120 WIN+1 14 0 120 NIN+1 12 2 460 N3N+2| 6 8 -200 NIN-2
Bye 17 6 0 14 -150 WIN+2| 2 12 -100 NIN-1] 5 9 430 N3N+1 6 8 -200 Z2R-2
15 4 10 4 110 N2H= 5 9 -150 z3s-3 | 10 4 690 Z3N+3 4 10 -140 wW2S+1 Bye
9 16| 10 4 110 N2H= 14 0 -100 z2s-2 1 13 600 Z5K= 13 1 100 wW2N-1 15 14 14 0 470 N2H!|s 4 10 -90 W2K= 5 9 430 N3N+1 12 2 -100 z2s-1
5 12 14 0 300 O5R-3 10 4 -130 W3R+1 | 10 4 690 Z4N+2 8 6 -110 wW2s= 16 5 9 -120 WIN+1 6 8 80 zls= 9 430 N3N+1 12 2 -100 NIN-1
1 6 4 10 100 wiN-1 | 10 4 -130 W4R= 4 10 660 Z3N+2 8 6 -110 W2S= 3 8 10 4 -90 WIN= 10 4 90 N1N= 9 430 N3N+1 1 13 -300 NIN-3
11 14| 10 4 110 N2H= 1 13 -430 W3N+1] 10 4 690 Z3N+3 2 12 -170 W2S+2 13 2 5 9 -120 W2N= 10 4 90 NIN= 12 2 460 N3N+2| 6 8 -200 NIN-2
N%Z OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NZ OW
11 12 4 10 -200 z4H-2 6 8 -110 02s= 8 6 -650 O4H+1 2 12 -420 0O4H= 13 14 2 12 -50 N2N-1] 8 6 100 O3N-1 0 14 -490 W3N+3] 5 9 -100 N4s-1
6 7 4 10 -200 z3H-2 | 10 4 -100 Zz2H-2 11 3 -620 WS5R+1| 14 0 100 W2N-2 8 9 12 2 100 W3H-1] 13 1 200 O3N-21 4 10 -430 O3N+1 | 10 4 120 Zz2N=
14 3 14 0 140 N2H+1| 2 12 -150 W2N+1] 2 12 -680 O4H+2| 11 3 50 W3N-1 2 5 12 2 100 w3H-1] O 14 -600 O3N= 4 10 -430 W3N+1 13 1 630 Z3N+1
13 8 4 10 -200 z3H-2 | 10 4 -100 Zz3H-2 6 8 -660 W3N+2 11 3 50 W4H-1 1 10 0 14 -110 wW2H= 8 6 100 O3N-1 14 0 -150 W2R+3] 5 9 -100 z2N-1
17 2 10 4 -100 N3H-1 2 12 -150 O2N+1] 14 0 -150 O3R+2| 2 12 -420 w4H= 11 4 12 2 100 w3H-1] 2 12 -120 0O2N= | 10 4 -400 W3N= 0 14 -200 Z3N-2
Bye 17 12 6 8 90 NIN= 8 6 100 O3N-1 | 10 4 -400 W3N= 5 9 -100 z2N-1
15 10 4 10 -200 N3H-2 | 10 4 -100 Z2H-2 2 12 -680 O4H+2| 6 8 -170 W2H+2 Bye
5 16 12 2 110 N2H= 14 0 -90 O2R= 2 12 -680 W4H+2| 8 6 -140 W2H+1 15 6 6 8 90 NIN= 4 10 -110 Ols+1 | 10 4 -400 W3N= 13 1 630 Z3N+1
1 4 4 10 -200 z3H-2 2 12 -150 Z3H-3] 11 3 -620 O5R+1] 2 12 -420 w4H= 3 16 6 8 90 NIN= 13 1 200 O3N-2 4 10 -430 W3N+1 5 9 -100 z2N-1




